1. NICHT?

=48 2
1
sL PP
T Y N Ny —v N N—vw—v N
(9 a Y U A )i 7 7 JA / T T /
e
Ich lie - ge im Zim - mer
A
AN AN
A4~ Y 4 Y Y Y 4
7 7 . 7 7 7 S
D4 ) ) ) ) )
ry) 7 7 4 4
. pp
\ ¥
3 4
.
)’ J N
y 4 b N Y N
S 7 ) 1 }
7 7.
ge - qualt im
A
Y
A v L - Y
{rs— 1
ANV ) )
e r 4
A p
\J ()_- 1 . g Pt
p 4t -  COromdartiscricr CUIUSTET
{rs e
\Q_j/ [P
N gvo
5 6
.
Y K
y N N N T N
} ) } b -
%B i o
e) w
Zim - mer ge - quilt von  schwar - - -
A —
\J N N
H— ? 4 t 4 b |
[an S S 7 ﬁv“‘
ANV D
Q) 1 4
| chromatische Cluster
o) e ——— i !
J O v #
~ | [ £ I 0
itgﬁ | \'_Jv i D
N\ . P
7 8
) | —
y . Y N—1 f
(& 1 — 7 m— =
e
zcn Er - in - ne- rung - en
A e . N |
. = o i) [ K
< ; T A [ K
0 I [ N
NSV i I I # J I
o 1 2 & S —0% |#
| sim. =4
. ~
/I 5 L ARP
R g ) - I?-
% S— r i
N\ |





